LR (BEak |29 ([ |EEHE |EEE |Feo8 (fE S8
1 3 1070003 [#£O% |1 BB B 43.50
1 4 1070005 [HO%F |1 BB B 56.25
1 5 1070006 |FBOIE |1 BB B 54.00
1 11 11070012 |ZEO@) |1 EESL B 43.00
1 15 11070017 |ZEO#% |1 BB B 52.75
1 22 11070073 |E= O (1 BB B 47.00
2 7 1070025 [FEO®E |1 s BL 51.25
2 8 1070026 |FOE |1 BB B 59.50
2 9 1070027 [FHOfE |1 BB B 51.00
2 10 (1070028 |EFOZ [1 A 51.25
2 13 1070031 |BEOE [1 BB B 43.25
2 17 11070078 | EO4f |1 BB B 55.50
2 25 11070111 |#ROE |1 B 53.25
3 3 1070037 [BFOZ |1 BB B 51.75
3 5 1070039 [FFOFE |1 A 59.50
3 6 1070040 [FHOH- |1 sEL BSL 49.75
3 7 1070041 [BEO>Z |1 BB B 55.00
3 13 11070048 |EFOFE |1 EES_BIS 48.25
3 14 11070049 1BO% |1 EES_BIS 49.50
3 18 [1070114 |[#O%E [1 EESL_BISL 59.75
3 25 [1070113 |&ROMHE [1 sB B3 54.25
4 4 1070053 [#ROF |1 sB 3 B3 51.25
4 5 1070055 [BEORL |1 EESL_BIS 53.75
4 7 1070057 [fFEOZ |1 EES_BIS 47.25
4 9 1070059 [FROE |1 EESL_BISL 55.00
4 10 11070060 |EFOZE |1 A 51.25
4 11 11070061 |=OE |1 EESL_BIS 53.00
4 14 (1070065 [EHO% (1 5B BSL 54.75
4 16 (1070098 | EOZ [1 5B BSL 52.25
4 23 (1070108 |ERO#F |1 5B BSL 59.00
4 26 11070110 | OA |1 5B BSL 46.50




